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XVDKD�XVDKD�PHQJKDSXVNDQ�EDKDVD

DO�4XU¶ƗQ�LWX�GDUL�VHWDSDN�NH�VHWDSDN�

EHUMDODQ�VHKLQJJD�NLWD�OLKDW�GL�WDQDK�DLU�

NLWD�LQL�EDKDVD�LWX�KDPSLU�KDPSLU�

WLGDN�GLNHWDKXL��WHWDSL�DOۊ�DPGXOLµ/ƗK

EDKDZD�PDVLK�DGD�VHJRORQJDQ�RUDQJ�RUDQJ�

NLWD�\DQJ�PDVLK�IDVLK�GDQ�PDVLK�

EROHK�GLKDUDS�XQWXN�EHUNDWD�NDWD�GDQ�

XQWXN�EHUPXQD]DUDK�GHQJDQ�RUDQJ�RUDQJ�OXDU�

GL�GDODP�EDKDVD�DO�4XU¶ƗQ�LWX��

� -LND�XVDKD�XVDKD�NHUDMDDQ�NHUDMDDQ�\DQJ�

PHPSXQ\DL�NHPDPSXDQ�WHUXV�

GLKLGXSNDQ��HUWLQ\D�NHUDMDDQ�NHUDMDDQ�\DQJ�

ND\D�GL�GDODP�QHJDUD�QHJDUD�$UDE�PHQJKLGXSNDQ�

EDKDVD�LWX�GHQJDQ�PHQJDGDNDQ�XVDKD�XVDKD�

VHOXDV�OXDVQ\D�PHQJHPEDQJNDQ�SHUNHPEDQJDQQ\D�

NH�VHOXUXK�7LPXU�MDXK�GDQ�$IULND�

XQWXN�PHQJKLGXSNDQ�GDQ�PHOXDVNDQ�

EDKDVD�$UDE�LDLWX�EDKDVD�DO�4XU¶ƗQ

QHVFD\D�EDKDVD�LWX�DNDQ�PHQMDGL�

EDKDVD�SHUVDWXDQ�VHOXUXK�XPDW�

,VODP�GDQ�GHQJDQ�GHPLNLDQ�PDND�FLWD�FLWD�

XQWXN�PHQ\DWXNDQ�FLWD�FLWD�XQWXN�

PHPSDGXNDQ�VHOXUXK�QHJDUD�QHJDUD�,VODP�

WLGDN�EHJLWX�SD\DK�GDQ�WLGDN�EHJLWX�

VXOLW��VHEDE�GHQJDQ�SHQJHUWLDQ�EDKDVD�

\DQJ�VDWX��PHUHND�DNDQ�GDSDW�EHUVDPD�VDPD�

EHUWXNDU�WXNDU�¿NLUDQ�GDQ�EHUNDWD�NDWD�GHQJDQ�

WLGDN�SD\DK�ODJL�WHUMHPDK�PHQWHUMHPDK

GL�DQWDUD�VDWX�GHQJDQ�ODLQ��%DKNDQ�

VHPDQJDW�EDKDVD�LWX�VHQGLUL�DNDQ�

WHUWDQDP�NH�GDODP�VDQXEDUL�RUDQJ�RUDQJ�

,VODP�NHUDQD�GHQJDQ�IDKDPDQQ\D�GDSDW�

PHUHND�PHQGDODP�GDQ�PHQJHWDKXL�VHORN�

EHORN�DMDUDQ�DO�4XU¶ƗQ�GHQJDQ�OHELK�

WLQJJL�GDQ�OHELK�UDSDW��

� 6HNLUDQ\D�KDO�KDO�\DQJ�WHUVHEXW�LQL�

PHQGDSDW�SHUKDWLDQ�WHUXWDPDQ\D�GDULSDGD�

-DOƗODK�DO�0DOLN�)DLVDO�GDQ�MXJD�

NHUDMDDQ�.XZDLW�VHUWD�5HSXEOLN�

$UDE�%HUVDWX��PDND�\DQJ�GHPLNLDQ�LQL�

WHQWXODK�PHUHND�DNDQ�PHQJDGDNDQ�VXDWX�

KLPSXQDQ�DWDX�VXDWX�SHUWXEXKDQ�\DQJ�

EDNDO�GLEXDW�EHUVDPD�VDPD�XQWXN�

SHUNHPEDQJDQ�EDKDVD�DO�4XU¶ƗQ�GL�VHOXUXK�

$IULND�GDQ�7LPXU�MDXK�LQL�VXSD\D�

GHQJDQQ\D�GDSDWODK�EHUNHPEDQJQ\D�EDKDVD�LWX�

GDQ�GHQJDQ�EHUNHPEDQJQ\D�EDKDVD�PDND�

EHUNHPEDQJODK�GHQJDQ�VHQGLULQ\D�DMDUDQ�DMDUDQ�

,VODP��$MDUDQ�DMDUDQ�,VODP�\DQJ�PHQGDODP�

LWX�WHQWXODK�PHPEDZD�NHSDGD�WLDS�WLDS�XPDW�

FHOLN�±�FHOLN�GDODP�VHJDOD�HUWLQ\D�

XQWXN�EHUMXDQJ�PHOHSDVNDQ�GDULSDGD�

VHJDOD�SHQMDMDKDQ��GDULSDGD�VHJDOD�

EHOHQJJX�\DQJ�VDQJDW�PHUEDKD\D�NHSDGD�

NHVHODPDWDQ�GDQ�NHVHMDKWHUDDQ�

SHUVHRUDQJDQ�GDQ�WDQDK�DLU�PHUHND��

� ,QL�GDSDW�GLSHUKDWLNDQ�DSD�\DQJ�

WHUMDGL�GL�,QGRQHVLD�EDUX�EDUX�LQL��

6XQJJXKSXQ�6XNDUQR�WHODK�PHQLQGDV

EHJLWX�KHEDW�WHUKDGDS�NHSDGD�SHUWXEXKDQ�SHUWXEXKDQ�

,VODP�\DQJ�EHUJHUDN�VHSHUWL�0DV\XPL�

GDQ�ODLQ�ODLQQ\D��QDPXQ�VHPDQJDW�,VODP�

PDVLK�WHUWDQDP�GL�GDODP�GDGD�PHUHND��

$SDELOD�NHVHGDUDQ�WLPEXO�PDND�JHUDNDQ�

GHQJDQ�QDPD�,VODP�LWXODK�\DQJ�GDSDW

PHQJKDSXVNDQ��GDSDW�PHURERKNDQ�

NHNXDVDDQ�NHNXDVDDQ�DQWL�WXKDQ�\DQJ�EHUMDODQ�

GL�,QGRQHVLD�LWX��GDQ�GDUL�

NHNXDVDDQ�GDQ�VLQDUDQ�FDKD\D�,VODP�

LWXODK�EHUGLUL�SHPXGD�SHPXGD�\DQJ�

PHPEDQJNLWNDQ�XPDW�,VODP�,QGRQHVLD�

GL�DWDV�NHVHGDUDQQ\D�PHUXQWXKNDQ�

SHUNDUD�SHUNDUD�\DQJ�PHUXJLNDQ�GDQ�\DQJ�

PHQJKDODQJ�NHPDMXDQ�GDQ�NHEHVDUDQ�

,VODP�GDKXOX��'HQJDQ�LWX�SXOD�

SHPHULQWDK�6XNDUQR�MDWXK�GDQ�WLGDN�

PHQGDSDW�WHPSDW�\DQJ�VHZDMDUQ\D�VHEDJDLPDQD�

\DQJ�GLFLWD�FLWD�ROHKQ\D�NHUDQD�6XNDUQR�

VHQGLUL�PHPEHODNDQJNDQ�DMDUDQ�DMDUDQ�DJDPD�

GDQ�PHQLQGDV�XPDW�,VODP�

GL�,QGRQHVLD��

� -DGLQ\D�SHQJDUXK�GL�GDODP�SHUMXDQJDQ�

\DQJ�EHUODNX�GL�,QGRQHVLD�GL�GDODP�

SHUNHPEDQJDQ�EDKDVD�$UDE��

EDKDVD�DO�4XU¶ƗQ�LWX�PDND�

EHJLWXODK�PDMXQ\D�XPDW�,VODP�

GL�,QGRHQVLD�GDQ�GHQJDQQ\D�GLKDUDS�DNDQ�

PHQMDGL�FRQWRK�NHSDGD�NLWD�

GL�7DQDK�0HOD\X�GDODP�SHUNHPEDQJDQ�SHUNHPEDQJDQ�

PHQJKDGDSL�PDVD�KDGDSDQ�NLWD��

� ,QLODK�MXJD�\DQJ�GLKDUDS�VXSD\D�

XVDKD�XVDKD�LWX�OHNDV�GLODNVDQDNDQ�GDQ�

FHSDW�PHQGDSDW�EDQWXDQ�EDQWXDQ�GDULSDGD�

NHUDMDDQ�NHUMDDQ�,VODP�EDJL�VHOXUXK�GXQLD�

,VODP�VXSD\D�SHUNHPEDQJDQ�%DKDVD�

DO�4XU¶ƗQ��EDKDVD�SHUVDWXDQ�XPDW�

,VODP�OHNDV�PHUHEDN�GDQ�WHUVLDU�

GL�VHOXUXK�NHSXODXDQ�NLWD�LQL�GDQ�

MXJD�GL�VHOXUXK�$IULND��

*               *               *

Perhatikan 

keputusan peperiksaan Unversiti 

Malaysia WDKXQ�LQL�PHQXQMXNNDQ�EDKDZD

GDULSDGD�����RUDQJ�\DQJ�OXOXV�KDQ\D�DGD�

����RUDQJ�0HOD\X�±�HUWLQ\D�OHELK�

NXUDQJ�GXD�SXOXK�SHUDWXV�VDKDMD�

0HOD\X��,QL�WHUEDKDJL�GDUL��

� ,MD]DK�MXUXVDQ�$UW�����RUDQJ�

GDULSDGD�MXPODK�����RUDQJ��OHELK�

NXUDQJ����SHUDWXV���MXUXVDQ�

6DLQV���RUDQJ�GDULSDGD������

3HUWDQLDQ���GDULSDGD����RUDQJ��GDQ�

'LSORPD�3HQGLGLNDQ����RUDQJ�

GDULSDGD�����RUDQJ��-XPODK�SHQXQWXW�SHQXQWXW�

0HOD\X�GL�VHEHUDQJ�ODXW��GL�$XVWUDOLD�GDQ�

(QJODQG��KDQ\D���SHUDWXV�VDKDMD��

*               *               *

� ���WDKXQ�GDKXOX�JUDQW�JUDQW�WDQDK�

���SHUDWXV�GLSXQ\DL�ROHK�RUDQJ�RUDQJ�

0HOD\X��VHNDUDQJ�KDQ\D�����VDKDMD�

GDULSDGD��������JUDQW�WDQDK�\DQJ�

GLSXQ\DL�ROHK�RUDQJ�RUDQJ�0HOD\X�±�satu 

kemajuan?


